OLD

This Question Paper contains Section—A 35 + Section—-B 6/6/6 questions.
S TIH-U3 o 3T WUE—3T 35 + WIS 6/6/6 T &l

Time : 3 Hours | [ Maximum Marks : 80
qu ;3 U | [ quifes : 80
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted.

(iii) Section B’ has got more than one option. Candidates are required to
attempt questions from one option only.

fEer: () 39 99-99 § &1 wug @ ‘31 qu1 @vg |
(i) w@ug ‘@ & At I FH TA BT B
(i) @ve ‘T #uH U Afk foshed &1 whenfiet w1 Faa vk faemew & @ g F IW A 2

SECTION-A
us-3
1. Give one example of an alicyclic hydrocarbon. 1
uferans s EEgREN F Tk e i
2. List the alkali metals in the order of their decreasing reactivity. 1

fX G1gaTl ol Hed! STihamRiiarar & %H H gies, hisu|

3. State the SI unit which can be used to express molar conductivity. 1

39 SI HEH 1 HAF KT S Al IATcTehdl i Tohe HA & T T § A6 St 2

313/0SS/205A 4



4. Write the ITUPAC name of

CH;—CH—CI1
| 1
Cl
CHs—CliH—Cl 1 [UPAC W fafau|
Cl
5. Write the SI unit for pressure and its expression in terms of SI base units. 1
3@ F1 SI AER 1 §¢ SI A AER H e hl SAHAE hiTe |
6. How many entities are there in one mole of any substance? 1
Foreft Tt % U A # fRat wa B 87
7. What are intensive properties? 1
e T 1 B 87
8. Give one main difference between isothermal and adiabatic processes. 1
TATt T TR T UHE § Uk gEd R fafaw)
9. What is the significance of the magnitude of equilibrium constant? 1
T feres o dfem i ardendr SamEy |
10. The flow of vegetable oil on the ground is lesser than that of water. Explain. 1

i W Sl e aedfd dd #9 gl d geTied gdr 81 wE i)

11. Clotting of blood occurs when a dilute solution of ferric chloride is applied to it.
Why? 1

Hih FANEE H af foead TR | e | R w1 gm #E S| Sar 27

12. What is the pH of 5-0x10™* M H,SO, ? 1

5.0x10™* M H,SO, i pH @1 2rfi?
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13. Write one chemical equation each to illustrate the following reactions :
(a) Aldol condensation

(b)  Cannizzaro’s reaction

ffafgs sfwfwrnstt =1 we wwe % fou g & U oh-us temie atw
fafiy

(%) Ucsid oA
(@) e & sfufran

14. Assign a reason for each of the following statements :
(a) Ethanamine is more basic than aniline.

(b)  Aniline cannot be nitrated directly.
Freaffiea weri ¥ T® & T T sud #Re fafe
() U, Y & erfie e 2|
(@) Ufrefm # €E Aedfed TE wR e |

15. (@) What is the IUPAC name of iodoform? What types of compounds show
iodoform test?

(b) Write a chemical equation for the reaction when ethanol is heated with
iodine in presence of alkali.

(%) ASIBHE &1 [UPAC =™ faRau| fora @@ & AAfe neiwd adeqor gend &7

(@) TwmEE wrfiem ffay si9 wdHta = ar &t sufefa @ e & iy ™ feEn
Elid

16. Distinguish between calcination and roasting. Write chemical equation to
represent the roasting of zinc sulphide (ZnS) ore.

e R ael 0 9 HifSu| S ge®Ee (ZnS) TR H S TeIH A % foig
Tt e fafaw)
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17. Complete the following equations : 2
s inicauificali e S
(i) S+HNO3 ——

18. Write the chemical equations for the reactions of water with (i) XeF4 and
(i) XeFg. 2

(i) XeF, 3 (ii) XeFg % W9 S i Afufsrneti & fou vomfes e w5 fafaw)

19. Describe with chemical equations, the method of obtaining potassium
dichromate from chromite ore on a large scale. 2

OIS G & T 9ol FIfST foF 3= T W FHiAEe 0%F 9 TREA SEhHHe &
fmtor fore geer fomm ST 21

20. How many electrons would be required or released to produce—
(a) one mole of aluminium metal from A1 ions;
(b) two moles of O, from OH™ ions? 2
TAFHT 1 TR T W A1 A e e T A e
(F) AI3T mET @ Al UTg H TH Ao
(@) OH WmE ¥ 0, ¥ A HE?

21. Define ionization energy. Describe the general trends in the variation of
ionization energy in the periodic table. 2

AT Folt i ity AU ofed gneft § A e A BN d9Td Uiedd sl e
g T TR STfery |
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22.

23.

24.

25.

Account for the following :
(a) Paramagnetic substances are usually coloured.

(b) A transition metal forms alloys with other transition metals easily.
frafafed & gorga o ife

(%) g e gEEd: TfF g 2

(@) TH GFEAU UG A THHAU UTgHT ok A1 WA ° fuerg s 2

The formula of sodium phosphate is Na 3PO4. What is the mass of 0-15 mole of
Na3PO,4 formula units?

[Atomic mass : Na =23 u; P=31 u; O =16 u]

Tifeam ®wehe 1 g3 NaszPO, 2| NagPO, &I §F THEAN & 0-15 HiA & TN
TieRfTd shifsTa |

[qETfUges §99H @ Na =23 u; P=31 u; O =16 u]

State the following laws :

(a) Avogadro’s law

(b) Dalton’s law of partial pressures
ffataa f=mi =t FarRe

(%) rmammgr |

(@) Sleed & A e 1w

Calculate the standard enthalpy of the reaction

C4Hio @)+ 12302 (g) > 4CO, (g) + 5H,0 ()

Given that
AfH°[C4H;g ()] = — 370 kJ mol !
AfH®[CO, (g)] = — 395 kJ mol !
AfH®[H,0 ()] = — 290 kJ mol
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T SAMeTishat hl ATk Ted! Uiehiold hifsTg :

13
C4Hio @)+ 302 (8) > 4CO; (g) + SHO ()
fem 2
AfH°[C4H10 (g)] = — 370 kJ mol ™!
AfH®[CO, (g)] = — 395 kJ mol !
AfH°[H40(l)] = - 290 kJ mol !

26. How many sigma and pi bonds are present in a molecule of (i) CO, and
(i) CoHy4 ? 2

(i) CO, 3R (i) CoH, & T 19 H fohad o o foram wig emeiy 27

27. The relative lowering of vapour pressure produced by dissolving 7-2 g of a
substance in 100 g water is 0-00715. What is the molecular mass of the
substance? 3

freft gt % 7.2 g N 100 g UHI B oM ¥ ATIEE H1 AR 1@EET 000715
B 21 gaTd w1 ] THEE qid i

28. Explain the following : 3
(a) Electromagnetic spectrum
(b) Emission spectra

(c) Line spectra
fefafga i =men HiNg
(F) fored-grrhr
(@) IcEsi TazA
(1) e we
29. Account for the following : 3
(a) The electron affinity of fluorine is less than that of chlorine.

(b) Metallic character decreases along a period.

(c) Caesium is used in photoelectric cells.
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FefeTiiad =1 SR w98 i

(F) FAE T e T Al T Sgar wA B 2
(@) oTads | ifcaeh &0 A 2idl Sal g |

(1) UR-SEE O § €S # JE g 2|

30. How will you convert—
(a) ethanal to propanone;
(b) acetyl chloride to ethanoic acid;
(c)  chlorobenzene to 4-nitrophenol?
gfEfda Hifem
(%) TIATA I WU H
(@) UHifed FeiEge wi weh et d
() FARST B 4-ATEBAA |

31. (a) Differentiate between ‘average rate’ and ‘instantaneous rate’ of a reaction.
(b) A first-order reaction is found to have a rate constant, k =5-5x 107 1% s71.

Calculate the half-life of the reaction.
(%) U Afufshan it ‘3ftma @ R Arewiield & & s Ad F WY FHifSu)

(@) wh ym @i H afufrn &1 @w R, k=5-5x10"1%s7! uEn Smar ®)
SAfoRaT o1 274 -3T1g o1 diehard shifeg |

32. A reaction mixture contains 2-70g of aluminium and 4-0g of HCl gas.
Determine the amount of aluminium or HCI that remains unaffected.

[Atomic mass : H=1 u; Al=27 u; Cl=35-5 u]

us fufsren Mo § 2.70 g regfufem qom 4.0 g HCL 18 2| emfaa @ sregiufem
1ET HCL & 9 &1 fgfor Sifse|

[T §mH : H=1 u; Al=27 u; Cl=35-5 u]
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33.

34.

35.

(@)

(b)

(b)

(@)

(b)

(c)

(@)

()

Write the thermochemical equations for the formation of (i) CO (g) and

(i) NH2)2CO(s).

The enthalpy change for the transition of liquid water to steam at 373 K is
40-8 kJ mol~!. Calculate the entropy change for the process. 4

(i) CO (g) 3 (i) NH,),CO(s) & Tmior & foru smamramfies adferr fofem)
373 K W 3d Ul 1 9 # GhAv % forw wdiedh afedd 40-8 kJ mol ! B =W
A o foTg Tt aftads daitefera i

Explain in terms of VSEPR theory that HOH bond angle is slightly less
than the tetrahedral angle, 109-5°.

What shapes are associated with the following types of hybridization?
Give one example of each type :

i) sp
(i) sp
(i) sp° 4
VSEPR fogrma & Mar w Ty HINu fF agehadi@ w0 109.5° H 37ua
HOH 3¢ &I % ®F Tl 2|
et det FereRt & HH-T AHR B 87 Tk THR H Teh IS0 ST

i) sp

(i) sp°

(i) sp°

How can aniline be obtained from nitrobenzene? Describe with chemical
equation involved.

Write chemical equations to represent what happens when—
(i) aniline is warmed with a mixture of chloroform and alcoholic KOH;

(ii) aniline is treated with an aqueous solution of bromine.

What is diazotization? 4
AECEE § WS SRR U fRn ST weRdT 27 3UH BW ATl TS SHIROT

i Fhifsre |

30 Tohe W & foru qEmEie gt o ey 6 @ g @ se—

(i) U o FaRe 3T Ueehigic! KOH & fosor & a1y 7 foham Sfram g

(i) U B S % St faerEa % wre Iaeia fme ST R

STEUSIIETH0T 7 27

313/0SS/205A 11 IPTO



36.

37.

38.

39.

40.

41.

SECTION-B
hus—d
OPTION-I
-1
( Agricultural Chemistry )

(Ff w@mm )

What is a micronutrient? Which of the two, Cu or Ca is a micronutrient?

T&w U q fRY FEd 87 Cu 3R Ca § & g&d qIveh a 87

Name the dominant clay mineral present in ‘red soils’.

30 Y@ Yhieh TS & AW SqeEe St A gal § aaae gl 2|
Name the three phases that constitute soil.

T3l S aTet o9 3TEEd ®F-wE W 87

Suggest any four ways of pest control by ‘physical methods’.

“fifoes fafemt’ w1 3w d gu diew e & Rl e wer % gema it

What does IPM stand for? What is the main purpose of IPM programme
(any three)?

MEo dio THo (IPM) & @ A 87 3o Wo THo HEHH H Y& W * ¢ (FE
o) ?

Explain the following steps of nitrogen cycle in nature :
(a) Ammonification
(b)  Mineralization

(c) Denitrification

Y T AR T ok (EfTiad SRON Sl THSEy
(%) AT

(@) @t

() femmgdem

313/0SS/205A 12



OPTION-II
faehca-11

( Biochemistry )
(S @A )

36. Give an example of a triose. Write its formula. 1

TEM W TH 38T die | 3HeR g faafaw)

37. Name the natural source of (a) glucose and (b) cellulose. 1
ffeitad & WTRfde @al & W farae
() TP
(@) ¥

38. Name any two digestive enzymes. 1

ureE o TRl &t el o AW TR

39. What is the basic difference between fats and oils? List any two functions of
fats. 2

FEiE AR qal H Hiferh = 1 87 @ o fhel &1 FEi Al fofeg

40. What are amino acids? How many amino acids are there in nature? Name the
first amino acid isolated from protein hydrolysate. 2

AT o T 87 U B fhad UHA o U S 27 UM eregiegde ¥ e fRd
T U8 UHH 3T o1 Am ferfau)

41. What are enzymes? List any two differences between enzymes and chemical
catalysts. 3

TTEH 1 27 TIEHT 3T THEHe 3en | his ar 3= fafau
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36.

37.

38.

39.

40.

41.

OPTION-III
fercg—111

( Environmental Chemistry )

( T=tERoT W )

What causes minamata disease?

formrer 4 fore wRo @ Biar 27

List two abiotic components of the environment.

qieRO % qr 3TSifoeh geehl & A faiflgu)

What does BOD assess?
BOD &1 3Tehicld shidl &7

List any two sources of lead pollution’. Mention two of its adverse effects.

‘e yguur’ & TR & |idl % AT Sl $heh B FUNTEl R 3g@ i)

Define water pollution. How does the presence of excess of nitrates in drinking
water cause harm to human beings?

STt weuor i ufearer @fte) fF % S § Argee it afreRar @ wge @ R wi e 27

What are the possible hazards to humans and the environment from nuclear
reactors (any three)?

ik flEe § wFE SR e # Gwied @e ® § (FE a7

313/0SS/205A 14



NEW

This Question Paper contains Section—-A 20 + Section-B 5/5 questions.
=6 T-TA % IT=id @UE—3f 20 + WU 5/5 Y ¢ |

Time : 3 Hours | [ Maximum Marks : 80
qu ;3 U | [ quifes : 80
Note : (i) There are two Sections in the Question Paper, viz., ‘A’ and ‘B’. All questions

from Section ‘A’ are compulsory.

(ii)) Attempt only one out of two Options in Section B’, i.e., attempt either
Option-I or Option-II.

(iii) Marks for each question are indicated against it.

(iv) Use log tables, if necessary.

fEsr: () =0 -9 ° 9 e § —wue—31 3 Wue—a | Wue—31 % |t Ui e g |
(i) @Ue—a % & fashedl § ¥ hadt T, fohed—I a1 fashed—II 1 & AL
(il) IcAH T o ek 3Gk A e e )
(iv)  TEw B a1 TEOEhE JROT SR |

SECTION-A
Qus-3A

1. What is the molar volume of an ideal gas at STP? 1
S 99 IR @ (STP) W Foret 2rrest T =1 Ao o1merae @1 27
2. What is the cause of Brownian motion? 1

SIS TIfd 1w = 27

3. Why is determination of osmotic pressure a better method as compared to other
colligative properties for determining the molar masses of macromolecules? 1

TS AT A0k FAAE J@ B o [0 T EE UEH hl gerd HOwE
Te-frafor fafa w1 sea 27
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4. (@) What do the following symbols represent?
() pm
(i) Ms
(b) Name the SI units of (i) temperature and (ii) mass.
(%) ffaiad Tdieh #1 2® Fid &7
() pm
(i) Ms
(@) (i) 99 qAT (i) FFEE F SI AHE FT B

5. (@) Why is limestone added during smelting of iron ores? Explain giving
reactions.

(b) Name a metal oxide that is not reduced to metal by heating with carbon.
How can it be reduced?

(%) <ie TEEH % WeM o o1 TR i fHamn Sar 87 Al o0 gu e A

(@) 3 gig ATdEe &1 AW FARE A FHEA ok 1Y T R TH W enfeas sEwen #
Jala & BTl 0 e TR @ sv=ERa fe S gear 87

6. Account for the following :
(a) There is a decrease in first ionization enthalpy from Mg to Al.

(b) The electron gain enthalpy of chlorine is more in negative value as
compared to that of fluorine.

ffafaa & w=ro T Fifvw
(%) Mg A Al it T I Tt T FHt ot 7|
(@) WG sl gor § Fdd B gt Tev Tiedt sfee e € |

7. At 47 °C, 1 mole of a gas is confined in a container of volume 1 L. Calculate the
pressure of the gas.

[Given : R=0-0821L atm mol ! K™1]

47 °C W UH T & 1 WA & Tk U3 § T T fS@em & 1L 21 T/ & S o
piicascical

[fem & : R=0-0821L atm mol ' K7}]
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8. Calculate the bond enthalpy of N—H bond in NHj (g). 2

Given :
1 3 o -1
5N2(g)+§H2 (8) > NH3(g); A H° = - 46 kJ mol
;Hz (8 —> Hg); A,H® =218 kJ mol™?
;Nz &) —>N(g); A,H°=973 kJ mol !

NHj; (g) § N—H @i 31eie Tdedt uftenfera hifs |

ﬁ?ﬂ % :
;Nz (g)+;H2 (g) > NH3(g); A,H°= - 46 kJ mol ™!
;Hz € — H(g); A,H° =218 kJ mol !
;Nz &) > N(g); A,H° =973 kJ mol !

9. How will you prepare para-bromoaniline from nitrobenzene? Can this
compound be obtained by direct bromination of aniline with aqueous solution
of bromine? Explain. 2

I ARSI W RSN R TR SAdn? @ g@ Aifies Wl s % Sel
foerm & 3w g0 el % wie SR g SR ST gehdT 27 SAREAl Shifsig |

10. The reaction 2Al+ 3MnO — Al,O3 + 3Mn proceeds till the limiting reagent is
consumed. A mixture of 220 g Al and 400 g MnO was heated to initiate the
reaction.

(a) Which is the limiting reagent?
(b)  Which initial substance is remained in excess and by how much? 4

[Al = 27, Mn = 55, O = 16]

2A1 + 3MnO — Al,O5 + 3Mn @ifufsan diuid 1fieie & 3Tk € a% =il 81 220 g
Al 3R 400 g MnO @ fisor &1 T sk Afufran g& @it )

(%) @ Al o Hiuma AfwRes -1 27
(@) ®H-81 IRETE et MEied = 3R fohaan?
[Al = 27, Mn = 55, O = 16]

313/0SS/205A 17 IPTO



11.

() What are the basic postulates of VSEPR theory?

(b) Predict the shapes of (i) methane and (ii) water molecules on the basis of
VSEPR theory.

(%) VSEPR fagra i miferss erfiremomd «=m 27

(@) VSEPR fagrd & gamr () M99 don (@) 9t & oTupsdi i A A umRe
i

. Examine the illustration of a portion of the defective crystal given below and

answer the following questions :
+ /\ m g +
@—E—uW—E—)

¢

e NN W
C/ 88— \B>
=Y (=) /AR /R /D
@O—E)—@)—(O—@)

)

(®)

EO—O—6—®

() What are these types of defects called? Also write name of the defect.

(b) How is the density of a crystal affected by these defects?

(c) How is the stoichiometry of the compound affected?

(d) Which types of ionic compounds show this defect? Name one such
compound.

= f@ ™ 3 4w ot (Qugw) fhed & & 9m & S T2l gEen
IAHA b (HTARgd T o 3w ST
@O—E—O—E—@)

"/ \S
O—O—E—0—0
O—EO——0O—®

(%) ¥ IV fRE THR o FEAd o7 M A AW o FATEC
(@) 3@ YR & 39 ¥ fHeed &1 ocd 8 g9Ifad giar 27
() 3@ QY G A FH WiEFHE | = 99E gSdr 87
(7) fora ysR & Afe AfR § 77 I 9ET ST 87 W Uk A 61 AW ey |
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13. (@) What is Le Chatelier’s principle? What will happen to solid-vapour
equilibrium when the temperature and pressure are decreased?

(b) 2 moles of HI were heated in a vessel of one litre capacity at 713 K till the
equilibrium is reached. At equilibrium, HI was found to be 25%
dissociated. Calculate K. for the reaction. 4

(%) T-3MAfeTe FEw = 27 S9 a™ 3R I@ #wH R G I 9 3 3|-am g
FAT JATE TSI

(@) 713 K W U ol oiitar ot 9t § HI % 2 Hicll @l 9 YT 84 aeh T fohan
T W W 25% HI foifsm gem wmn wm eifufRm & faw Kk w1 oW

qieRfera FifsTT )
14. (@) Knowing that
Cu’* g +2e—>Cufs); B, o joy =0-34V
2Ag" (aq) + 2e — 2Ag(s) ; E;g+/Ag =0-80V

reason out whether 1 M silver nitrate solution can be stored in a copper
vessel or 1 M copper sulphate solution can be stored in a silver vessel.

(b) What must be the value of E, if the rate constant for a reaction is doubled
when the temperature increases from 300 K to 310 K?

[Given : log2=0-301, R=8-31JK ! mol™] 4
(%) =& 4 ge i
2+ . ° _
Cu”" (aq)+2e— Culs); ECu2+/Cu =0-34V

2Ag" (aq)+2e — 2Ag(s); E =0-80V

Ag'/Ag
R Tigd sagy o6 921 1 M ocer A1gde foaorm o1 9" & U | TaT S Hehal § AU
1 M R Hothe foera =i =idt & o1 § Ta1 ST 9ehdl 21

(@) fowret stfufshan @1 @@ 300 K © 310 K & W 38k & &R0 FMA1 & S g,
@ F E, H HE 1 SET =R’

[fem T ® : log2=0-301, R=8-31JK ! mol™]

15. Explain the following giving suitable reasons : 4

() Among the heavier elements of p-block, lower oxidation states become
more stable as compared to higher oxidation states.

(b)  Which one is hydrolysed by water and why : CCl, or SiCl,?

313/0SS/205A 10 IPTO



(c) The acid strength of the oxoacids of chlorine increases in the order
HOCI < HOCIO < HOCIO, < HOCIO 3

(d)  Chlorofluorocarbons are environmentally hazardous.

frfafiaa &1 3foa wR0 <0 gu =mEn FHim

(%) p-sclich & O q U 3= AR raeredi it e e stedfientor srawen
Afeek g Bt 2

(@) < & HH-|1 gATad B g 3R FT : CCly AT SiCly?

() FARE F ATl -3l I T AT e FEHER Sed! @
HOCI < HOCIO < HOCIO, < HOCIO

(q)  FARGGSTIRTE TIeRU{T Hehe Iqd G 9Tl B A 2 |

16. (@) What is lanthanide contraction? What effect does it have on the chemistry
of the elements which follow lanthanides?

(b) Using valence bond theory, predict the geometry and magnetic behaviour
of [Cr(NH3)6]3+ ion. [Given : Cr = 24]

(%) AIRE TPTA FT AT 37 AYAIEES % IWA AW AT ql o THEHF FIER T
TR FAT U9 TSl 27

(@) waehar e fagd w1 ST FRA g [Cr(NHg)e ST 3mea i sanfufa i 3w
IR FEER 1 UERE il ([ 7 Cr = 24)

17. (a) Write the IUPAC name of CH3CH,CH,CONHCH.

(b) Describe the following with respect to proteins :

(i) Primary structure
(ii) Peptide bond
(i) Denaturation

(%) CH3CH,CH,CONHCHj3 1 IUPAC W fafau
(@) WeE % v § fefafaa w av fifw

(i) e

(i) ULTEE S

(iii)  TorRdfteRToT
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18. (@) What is meant by wave-particle duality? How has the wave nature of
electron established? Write de Broglie equation.

(b) Write down Balmer formula and explain the terms involved. What is the
wavelength of the radiation emitted when the electron in a hydrogen atom

jumps from ny =4 to ny =1 level? [Rydberg constant =109677 cm_l] 6

(F) HOI-GUT FAGT W AT T THSA &7 IH YANT H1 AU IS O SoraE H adT
=aEr g g 2| di-siedt g ol

(@) @ g fafay 3R 38k 9ai &l e HiVe| TEgisH T § TodeE n, = 4 9
ny=1%R & W W IcAfsiaq faferor 1 qmesd F=n e

[freant feRi® = 109677 cm ™

19. (a) Define ‘entropy’. What is its SI unit? What is meant by entropy-driven
reaction? How can a reaction with positive AH and AS be made entropy-
driven?

(b) The standard Gibbs’ energies of formation at 298 K are — 202-85 kJ mol !

for NH4Cl(s), —16-45 kJ mol ! for NHj (g) and - 95-3 kJ mol ! for HCI (g)-
What is A,G° for the reaction

NH4Cl(s) — NH3 (g) + HCI (g) ?

Is this reaction spontaneous at 298 K? 6

(F) ‘T & o AR sEE SI A @ 87 Uit Yia AR @ @ e
27 foFa UR Tt iR Ut % oeTeHes uREddl o WY U AfIfRAT wl uRgrdt
Ufd ST ST "R 27

(@) 298 K W HHE® fies @wad  FSsi & HH  NH,Cls) & fog
-202-85kJ mol™!, NH;(g) * folt —16-45kJ mol™! 3R HCI (g) & fog
~95.3 kJ mol~! &| frmfetfiaa sifufsen & fow A,Ge &1 a= =0 @me?

NH4Cl(s) - NH3 (g) + HCI (g)
1 I AMNHAT 298 K W Tod:afdd g ?
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20. (a)

(b)

(c)

(d)

()

Explain with the help of relevant structural changes, the stronger acidic
character of phenols than alcohols.

Identify the products A, B and C in the following reaction :

NaOH NaOH (CaO)

CHZCOOH A Cly/ v

B C

Give chemical tests to distinguish between the following pairs of
compounds :

(i) Ethene and ethyne

(ii) Propanal and propanone

The boiling points of ethers are lower than those of alcohols of comparable
molar masses. Explain.

IUYH TLEATCHS IRl hl Tl d, Ueshlgidd @l ol H HiHid & Jaa i
stfircregor it =amEn Hifv|

(@) fFfafaa sifafen @ 4, B 3R € 3@l $i vgem FifSe

()

(¥1)

NaOH NaOH (CaO)

Cl,/h
CH,COOH A o/ v

B C

e ifies i % wewl 4 9g A o fofu et Wi i
(i) T SR T
(i) TR R WU

Uehlglcll i TUET Joiicish HieR S aTdl 39Ri & HUFs %9 2id | =
IS |
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SECTION-B
Qus—d

OPTION-I
faereu—1

( Environmental Chemistry )
( TITEReT WA )
21. Name two air pollutants which form photochemical smog. 1
T 9 YUl o A9 SATEY S R -THE S gH HEd s 2 |
22. What would happen, if—

(a) the proportion of greenhouse gases increases in the atmosphere;

(b) the greenhouse gases are totally missing from the atmosphere? 2

F1 B Al GarE gt afe—
(%) aHed # HHeed |l w1 STUd Sedl T
(@) agHed # fieRy 8 gft a srgafed e
23. Explain any two molecular mechanisms by which a heavy metal becomes toxic. 2

et |t enfoaes fpenfafte i e i 7 g/ wft ang snfoeme] = <t 21

24. (a) Define any two of the following terms :
(i) Biosphere
(ii) Secondary pollutant
(ii)) Ionizing radiation
(iv) Radioactive pollution

(b)  List four factors on which the biological damage by radioactive radiations
depends. 4

(%) Tfafaa wal & @ frdl g it afeam €T
(i) Stemea
(i) Tediae Jqwe
(iii) RO farfeRtor
(iv) UeAmfaes sgue
(@) 3 OR Fh & gAag hioe 9 w® feanfaea T & g sfaw afd fai
Eacild
25. Describe with the help of diagram the three stages of treatment of wastewater. 6

o Y e 9 Sfyy S % IR % A =Swn e Hifsg)
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OPTION-II
fohea-11
( Chemistry and Industry )
( @I SR FET )

21. Why are rocket fuels different from the fuels used in automobiles? 1
kel o $oF, TEETId aTedl & so9 o fid &= 2 87

22. “Self-medication is very harmful and a dangerous practice.” Justify the
statement. 2

“wfufE T EiHERE R G v 21 3™ weH A gfE i

23. Each of the following monomers polymerizes to give different products. Show
the formation of polymer products by using 3 monomer units each : 2

ffafiad T Thes AR BRI STER-3TE 3¢9E od &1 U %k 3 THahl §
agAH 1 fatem awiEy

CH==CH,

(i) (i) CH,—CH—COOC,H;

24. (@) How are mordant dyes applied to fabrics?

(bp) What is laminated safety glass? How is it obtained? Write its two
important uses. 4

(%) TEYF S 99 T R TER FeIY S 8

(@) wia geem wig #1187 38 e R ww fRn S 27 geeh |1 Heedqul Sudn
o |

25. (a) Distinguish between homopolymer and copolymer.
(b) Differentiate between analgesics and antipyretics.

(c) Compare the properties of natural rubber and vulcanized rubber. 6
(%) wHEEAH R HEaga® & e = frae|

(@) dierrt IR SerEft & g v fafaw)

(T) TRl X 3R Foohiohd @R o TUTEH! 1 ol hisTe |

* Kk *k
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